September 13, 2018, Jennifer Murdock

How to get STATA output into Quercus with proper formatting

1. Cut-and-paste from the .txt file to get this (which looks terrible):

Question Numerical Answer v

Define the correct answer as any number within a range. or a number plus or minus seme errer margin. Student will be given an empty text box Lo type their numerical answer
Question: ITML Editor
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H- B &£ &2 M W = A T 12pt ~ Paragraph  ~ ()
Review the STATA regression output below.
. regress y x

Source | S§ df MS Number of obs = 100
+ F(1,98) =138.26
Model | 130.617357 1 130.617357 Prob = F = 0.0000
Residual | 925804575 98 9446088546 R-squared = 0.5852
+. Adj R-squared = 0.5810
Total | 223.197814 99 2.25452338 Reoet MSE = .97196

+
x| 1.06598 0906558 11.76 0.000 8860771 1.245884
_cons | 2.01138 .0972237 20.69 0.000 1.818443 2.204317

What is the standard deviation of the variable y?

p 96 words

2. Select the STATA output and selected Preformatted from the drop-down Paragraph menu.

Question Numerical Answer v pts: 1

Define the correct answer as any number within s range, or a number plus or minus seme error margin. Student will be given an empty text box Lo type their numerical answer

Question: {TML Editor
B 7 Y A-HE-TL
H- B P R RGO N T - [Paragrapn -] ®
Review the STATA regression output below. _

. regress y x Header 2
Source | SS df MS Number of obs = 100 Header 3

+ F(1,98)=138.26
Model | 130.617357 1 130.617357 Prob = F = 0.0000 Header 4
Residual | 92.5804575 98 .944698546 R-squared = 0.5852 Preformatted

+ Adj R-squared = 0.5810

Total | 223.197814 99 2.25452338 Root MSE = 97196

y | Coef. Std. Err. t P=|t| [95% Conf. Interval]

4t
x | 1.06598 .0906558 11.76 0.000 .8860771 1.245884
_cons | 2.01138 0972237 20.69 0.000 1.818443 2 204317

What is the standard deviation of the variable y?

p 96 words,



3. It will now look like the below (which still looks terrible):

Question Numerical Answer v pts: 1
Define the correct answer as any number within a range, or a number plus or minus some error margin. Student will be given an empty text box to type their numerical answer
Question: {TML Editer
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B o & fij’é = M o 10pt ~ Preformatted ~ (%)
Review the STATA regression output below.

. regress y x

Source | 55 df MS Number of obs = 108

------------- e Fil, ) = E6.AE
Model | 138.617357 1 13@.617357 Prob > F = B.8880

Residual | 92.5884575 98 .944698546 R-squared = ©.5852

------------- b mm—---—m--oe—o—————————_——_ Adj R-squared = 8.5310
Total | 223.197814 99 2.25452338 Root MSE = .97196

y | Coef. std. Err. t P>|t| [95% Conf. Interval]

,,,,,,,,,,,,, o
x | 1.86598 .@9@6558 11.76 ©.800 .8860771 1.245884

_cons | 2.81138 .8972237 28.569 0.800 1.818443 2.204317

What is the standard deviation of the variable y?

pre 96 words

4. Cut-and-paste again from the .txt file into the selected area above (which now looks even more terrible):

Question Numerical Answer v pts: 1

Define the correct answer as any number within a range, or a number plus or minus seme errar margin. Student will be given an empty text box Lo type their numerical answer.

Question: {TML Editer
B/ UA-B-LEE== X % = E
Br B & &2 & v @ BT T o12p - Paragraph  ~ ()

Review the STATA regression output below.
regress y x

Source | S5 df MS Number of obs = 100
+ F(1,98) = 13826
Model | 130.617357 1 130617357 Prob = F = 0.0000
Residual | 92.5804575 98 944698546 R-squared = 0.5852
+. Adj R-squared = 0.5810

y | Coef Std. Err t P=[t] [95% Conf. Interval]

+.
X | 1.06598 .0906558 11.76 0.000 8860771 1.245884
_cons | 2.01138 .0972237 20.69 0.000 1.818443 2.204317

What is the standard deviation of the variable y?

p 96 words



5. Select the STATA output (again) and selected Preformatted from the drop-down Paragraph menu (again).

| Question H MNumerical Answer v P‘Sl‘ 1 ‘
Define the correct answer as any number within a range, or a number plus or minus some efror margin. Student will be given an empty text box to type their numerical answer.
Question: HTML Editor
B 7 UA-B~-I E E = XX,
Hr B &£ 22 & v @ & M T 2 -
Review the STATA regression output below.
regressy x Header 2
Header 3
Header 4
Preformatted
What is the standard deviation of the variable y?
p 96 words
It now looks good. Save it.
‘ Question H Numerical Answer v r“s:| 1 ‘
Define the correct answer as any number within a range, or a number plus or minus seme errer margin. Student will be given an empty text box to type their numerical answer.
Question: HTML Editor
B 7 U A-BA~-L EE = X %, = =
BHr B & &2 & v« @ = M T 1opt ~ Preformatted + (®
Review the STATA regression output below.
What is the standard deviation of the variable y?
pre 96 words |




7. Itlooks even better to students.

[ | Question1 1 pts

Review the STATA regression output below.

. regress y x

source | ss df HS Number of obs = 1e0
————————————— e F(1, 98) = 138.26
Vodel | 130.617357 1 138.617357 Prob > F = 9.0000
Residual | 92.5884575 98 .944598546  R-squared = 8.5852
————————————— e~ Agj R-sgusred = 8.5818
Total | 223.197814 99 2.25452338  Root MSE = .971%

v Coef. Std. Err t Pl [95% Conf. Interval]
,,,,,,,,,,,,, D E——.
x| 1.86598 .@o@esss  11.76  ©.90@ .8860771  1.245884

cons | 2.81138  .8972237  20.69 ©.900 1.818443  2.204317

What is the standard deviation of the variable y?

8. If you are using the same output for multiple questions (or versions of the same question), you can cut-and-
paste (so that you do not need to repeat all the steps above). However, you must copy from within edit
mode as shown below. (If you copy the displayed version and try to paste that into a new question you will
get a nasty error message that you cannot escape from without closing things down.)

Define the correct answer as any number within a range, or a number plus or minus seme error margin. Student will be given an empty text box to type their numerical answer.
Question: HTML Editor
= = = = = 2 = 1=
B 7 UA~-A~-TL E E E E IE ¥ x = iz
H- B8 & 2 & = M T 12pt - Paragraph  ~ (®)
o
Review the STATA regression output below.
Number of obs 100
F(1, 98) 138.26
Model | 13@.617357 138.617357 Prob > F 2.0008
LEEST RN | 92.5884575 .944698546 R-squared B.5852
Adj R-squared 9.5818
Root MSE .97196
[95% Conf. Interval]
1.86598 i 11.76 a.008 . 8B6ATT1 1.2458384
2.01138 . 3 69 8.200 ,,
Emaji
. — Cut Ctrl+X
hat is the standard deviation of the variable y?)
Copy Crl+C
Paste Crl+V
Paste as plain text Ctrl+Shift+V
Selectall Ctrl+A
Search Google for “Review the STATA regression output below. ...”
Print... Ctrl+P
Spelicheck »
Writing Direction » .
P Inspect Ctrl+Shift=| 96 words




